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Subject: English 1st Paper

Marks Distribution

Part-A: Reading-70

1.

1. MCQ 1x7=7
- - Seen Passage-1

2. Answering Questions 2x5=10

3. Gap Filling 1x5=5

4. Vocabulary Seen Passage-2 155

(Synonyms & Antonyms)

5. Information Transfer 1x5=5

6. True/ False Unseen Passage 1x5=5

7. Writing Summary 10

8. Matching 1x5=5

9. Re-arranging Sentences 1x8=8

10. Answering Questions from poems 2%5=10

in English For Today (any 5 out of 8)

Part-B: Writing-30

11. Completing Stories 10

12. Writing Paragraph in 120 words 10

13. Writing Dialogues 10
Total- 100

Course Plan

Half-Yearly Examination
** Reading test: Lesson: 1-19
** Writing Part:

Completing Story:

(a) Nobody believes a liar.

(b) Unity is a strength.

(c) Slow and steady wins the race.
(d) The wolf and the crane.

(e) A lion and a mouse.
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2.

**

**

Paragraph:

(a) A book fair you have visited

(b) Your first day at School

(c) Your school library

(d) Early Rising

(c) A farmer.

Writing Dialogues:

a) About the important of learning English.
b) With a doctor about your illness.

¢) With your Headmaster about your TC.
d) With a Salesman on buying some books / goods.
e) About gardening.

Annual Examination
Reading test: Lesson: 20-33
Writing Part:
Completing Story:
(a) Grapes are sour.
(b) An ant and a dove.
(c) A thirsty crow.
(d) A clever fox and a crow.
(e) A fox without a tail.
Paragraph:
(a) Your Reading Room
(b) Tree Plantation
(c) A Rickshaw Puller
(d) Your Parents
(e) A Tea Stall
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3. Writing Dialogues:
a) With a Headmaster of a school for admission.

b) With your friend about how to speak English fluently.

¢) With your Headmaster for early leave.

d) With your mother about your preparation for the examination.

e) With your friend about how to use a dictionary.

Subject: English 2nd Paper
Marks Distribution

Part-A: Grammar-30

1. Identification of Parts of Speech 0.5x10=5

2. .Gap fllllng_ Wlth clues (Parts of speech, use of 0.5x10-5

articles, prepositions etc.

3. Substitution table 1x5=5

4. Right form of Verbs 1x5=5

5. Changing sentences (Tense, Affirmative, Negative,

Assertive, Interrogative, Optative, Imperative & 1x5=5

Exclamatory)

6. Punctuation and Capitalization 5

Part-B: Writing-20

7. Letter/ E-mail (Formal & Informal) 8

8. Writing short composition in 200 words. 12
| Total- 50

Course Plan
Half-Yearly Examination
Grammar: 30

Parts of speech, Pronoun and its classification, Tense, Articles (a,
an, the), The-ing form of verb: Gerund and Participle, Punctuation

and Capitalization.
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Composion-20
Letter/ Email (Formal and informal)

1.

3.
4.

Write an application to the Headmaster for arranging an
annual picnic.

Write an application to the Headmaster for admission on
transfer.

Write e-mail organizing math’s Olympiad in the locality.
Write a letter you are going to celebrate your next birthday.

2. Composition:
(a) Rice
(b) A Journey by Boat
(c) Student Life
(d) Newspaper

Annual Examination

Grammar: 30

Parts of speech, The Tenses (Simple, Present, Past and future),
Articles (a, an, the), Possessives, The-ing form of verb: Gerund
and Participle, Sentences (Affirmative, negative, Interrogative,
Imperative, Optative, Exclamatory), Introductory ‘There’ and ‘it’,
Punctuation and Capitalization.

Composition-20
Letter/ Email (Formal and informal)

1.

Write an application to the Headmaster for a full free
studentship.

. Write an application to the Headmaster for leave in

advance.
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3. Write an e-mail to your father information informing him
about the preparation of your annual examination.

4. Write an e-mail to the British Council to send you
information and your learners English.

5. Write a letter to your friend congratulating him/her on his
brilliant success in the annual examination.

6. Write a letter to your mother about your hostel life.

2. Composition:
() Your Daily Life
(b) Your Hobby
(c) Your Favourite teacher
(d) Birds of Bangladesh
(e) Duties of Parents.
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